



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Artificial Intelligence and Data Science



Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-III Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-013

Print On Date: 04/Feb/2026 11:19 AM

Sr No	Enrollment No	Student Name	No. of Credit					3			2			4					4					4					0		Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI		
			Web Development[BTAI13301]					Principles of Economics and Management[BTAS10301]			Computer Organisation and Architecture[BTCO13302]					Object Oriented Programming[BTCO13304]					Discrete Mathematics[BTIT13301]					Data Structures[BTIT13302]																Essence of Indian Traditional Knowledge[BTMD17301]	
			CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP												TEE	TEP
1	ET23BTAI007	Devani Neel Rakeshbhai	CC	AB	CC	BB	BC	BC	FF	FF	CC	BB	FF	BB	FF	CC	BB	FF	BB	FF	BC	BB	BB	BB	FF	BB	FF	CD	CD	53	21	2.52	7	4	Fail	S1: 1, S2: 2, S3: 4	63	38	243	3.86			
2	ET23BTAI037	NIRVAN UMANG ARORA	BC	AA	BC	AA	BB	FF	FF	FF	CC	CC	FF	AB	FF	CD	BC	FF	AB	FF	CD	BC	BC	CC	BB	CD	AB	BC	BB	BB	80	21	3.81	11	3	Fail	S2: 3, S3: 3	63	46	316	5.02		
3	ET23BTAI044	Patel Daksh Pankajbhai	AB	AA	BB	BB	AB	BB	CD	BC	BB	AB	BC	AA	AB	BC	BB	CD	AB	BC	AB	AB	AB	BB	AB	BC	BB	BB	BC	BC	173	21	8.24	21	0	Pass	0	63	63	503	7.98		
4	ET23BTAI050	PATEL SHUBHAM PARESHBHAI	CC	BC	BC	BB	BC	BB	CD	BC	CC	AB	CC	BB	BC	CD	BB	FF	AB	FF	CC	AB	BB	BC	CC	BC	BC	CC	CC	123	21	5.86	17	1	Fail	S2: 1, S3: 1	63	55	381	6.05			
5	ET24BTAI001	AAYUSH LIMBAD	CC	BC	BC	NA	FF	CD	CC	CC	CC	BB	NA	NA	FF	CC	CC	NA	NA	FF	CD	NA	FF	CC	CC	NA	NA	FF	BC	BC	12	21	0.57	2	5	Fail	S2: 2, S3: 5	63	37	244	3.87		
6	ET24BTAI002	BABRIYA DIXA NILESHBHAI	BB	AB	BB	BB	AB	BB	FF	FF	BB	AB	BC	AA	AB	CC	AB	FF	BB	FF	BB	BC	BB	BC	AB	CD	BC	BC	BB	BB	123	21	5.86	15	2	Fail	S3: 2	63	57	421	6.68		
7	ET24BTAI003	BAJAJ RISHABH SHYAMSUNDER	BB	BB	AB	AB	AB	BC	CD	CC	AA	AA	BC	AA	AB	BC	AA	CD	AB	BC	BB	BC	BB	AA	CC	AB	BB	BB	BB	167	21	7.95	21	0	Pass	S2: 1	63	59	474	7.52			
8	ET24BTAI004	BHAKHAR KRISHNA DILIPBHAI	BB	AB	BC	BC	BB	BC	FF	FF	AB	AA	CD	AB	BB	CD	AB	FF	BB	FF	AB	BC	BB	BC	AB	CD	BB	BC	BC	BC	116	21	5.52	15	2	Fail	S3: 2	63	57	436	6.92		
9	ET24BTAI005	BHAVSAR KHUSHI RAKESHKUMAR	AA	AA	AB	AB	AA	AA	CD**	BC	AA	AA	AA	AA	AA	AA	AA	BB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	CC	CC	204	21	9.71	21	0	Pass	0	63	63	566	8.98		
10	ET24BTAI006	CHAUHAN MILENKUMAR RAJESHKUMAR	CC	BC	CD	CC	CC	BB	FF	FF	CC	BC	FF	AB	FF	CD	CC	FF	CC	FF	CC	BC	BC	BB	CC	BC	BC	CC	CC	74	21	3.52	11	3	Fail	S2: 1, S3: 3	63	49	327	5.19			
11	ET24BTAI007	CHODAVADIYA HIMANSHU RAJENDRABHAI	BB	AB	BB	BB	AB	AA	CC	BB	BB	BB	BC	AB	BB	BC	AA	CD**	BC	BC	AB	BB	AB	BC	AB	CD	BC	BC	BB	BB	167	21	7.95	21	0	Pass	0	63	63	480	7.62		
12	ET24BTAI008	CHOVATIYA OMKUMAR SHIRISHBHAI	BB	AB	CD	BC	BC	BC	FF	FF	AB	AB	CD	AB	BB	CC	AB	CD	CC	CC	AA	BC	AB	BC	AB	CD	BC	BC	BC	BC	141	21	6.71	19	1	Fail	S3: 1	63	61	422	6.70		
13	ET24BTAI009	DASARI TEJAS SANJEEV	AA	AA	AA	AA	AA	FF	BC	FF	AA	AA	BC	AB	AB	BC	AB	CC	AA	BB	AA	AA	AA	BB	AA	BC	BB	BB	BC	BC	170	21	8.10	19	1	Fail	S3: 1	63	61	529	8.40		
14	ET24BTAI010	DIYA PRITESH MEHTA	AA	AA	AA	BB	AA	AA	BB	AB	AA	AA	AB	BB	AA	AA	AA	BB	AB	AB	AA	AB	AA	AA	BB	AB	AB	BB	BB	200	21	9.52	21	0	Pass	0	63	63	566	8.98			
15	ET24BTAI011	FARSHAZ MASTER	BB	BB	BB	AA	AB	BB	FF	FF	BB	AB	CC	AB	BB	BC	BB	CD	AA	BC	CC	CC	CC	CC	AA	CD	BC	BC	BC	139	21	6.62	19	1	Fail	S3: 1	63	61	458	7.27			
16	ET24BTAI012	GAJJAR MIHIR ATULBHAI	BB	BB	FF	CC	FF	BB	FF	FF	BC	AB	CD	AA	BB	CD	AB	FF	BC	FF	AB	BC	BB	BB	AB	CC	AB	BB	BC	BC	96	21	4.57	12	3	Fail	S3: 3	63	54	389	6.17		
17	ET24BTAI013	GANATRA HETAVI HITESHBHAI	AA	AA	AB	AB	AA	AB	FF	FF	AA	AA	CC	AA	AB	CC	AB	CC	BC	BC	AB	AB	AB	BC	AA	CC	BB	BB	BC	BC	162	21	7.71	19	1	Fail	S3: 1	63	61	490	7.78		
18	ET24BTAI014	GEDIYA DWARKESH PRAKASHBHAI	AA	BB	AB	AB	AA	AB	CD**	BC	AA	AA	BB	AA	AA	AB	BB	BB	AA	AB	AA	AA	AA	AB	AA	CC	BB	BB	BB	192	21	9.14	21	0	Pass	0	63	63	558	8.86			
19	ET24BTAI015	GOHIL TUSHAR ASHOKBHAI	CC	BC	CC	BB	BC	CC	FF	FF	CC	BB	FF	BB	FF	CD	BB	FF	BB	FF	BC	CC	BC	BC	AB	FF	CC	FF	CC	CC	49	21	2.33	7	4	Fail	S3: 4	63	49	316	5.02		
20	ET24BTAI017	GOTAWALA HARSHI VIPULKUMAR	AA	AA	AB	AB	AA	AB	BB	AB	AA	AA	BC	BB	AB	BC	AB	CC	AA	BB	AB	AB	AB	BB	AA	BC	BB	BB	BB	184	21	8.76	21	0	Pass	0	63	63	542	8.60			
21	ET24BTAI018	GRECY VINODBHAI ERVADIYA	BB	AA	BC	BB	BB	AB	BC	BB	BB	AA	BC	AA	AB	BB	AB	CD	AA	BB	AA	AA	AA	CC	AB	CC	BB	BC	BC	176	21	8.38	21	0	Pass	0	63	63	511	8.11			
22	ET24BTAI019	HAJARIWALA SHAILVI KETANKUMAR	AB	AB	AB	AB	AB	BB	CC	BC	BB	AB	CD	BB	BC	CD	AA	CD	AB	BC	AA	AB	AA	CC	AB	CC	BB	BC	AB	AB	165	21	7.86	21	0	Pass	0	63	63	516	8.19		

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-013





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Artificial Intelligence and Data Science



Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-III Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-013

Print On Date: 04/Feb/2026 11:19 AM

Sr No	Enrollment No	Student Name	No. of Credit					2			4					4					4					0		Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			3					Principles of Economics and Management[BTAS10301]			Computer Organisation and Architecture[BTCO13302]					Object Oriented Programming[BTCO13304]					Discrete Mathematics[BTIT13301]					Data Structures[BTIT13302]													Essence of Indian Traditional Knowledge[BTMD17301]				
			CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP												Course Grade	TEE	Course Grade		
23	ET24BTAI020	JASOLIYA JEMI ASHWINBHAI	AB	AA	BB	BB	AB	BB	FF	FF	AB	AA	BC	BB	AB	CC	AB	FF	BB	FF	BB	AB	AB	AB	BC	BB	BB	BB	BB	BB	131	21	6.24	15	2	Fail	S3: 2	63	57	456	7.24		
24	ET24BTAI021	KACHHADIYA AAYUSHI MUKESHBHAI	AA	AA	AB	AA	AA	CC	BB	AA	AA	AB	AB	AA	AA	AB	CD	BB	BB	AA	AB	AA	AB	BC	AA	AB	BC	BC	BC	194	21	9.24	21	0	Pass	0	63	63	590	9.37			
25	ET24BTAI022	KAKLOTAR JYOT RASIKBHAI	BC	AB	BB	BB	BB	CD	BC	BB	AB	BB	BB	AB	CC	AB	CD	BB	BC	AB	AA	AA	BB	AA	BC	BB	BB	BB	BB	174	21	8.29	21	0	Pass	0	63	63	506	8.03			
26	ET24BTAI023	KANANI MOKSH BHAVESHBHAI	CC	AB	CD	BC	BC	BB	FF	FF	BB	BB	FF	BB	FF	BC	AB	FF	AB	FF	AB	BC	BB	BC	AB	CC	BC	BC	BC	81	21	3.86	11	3	Fail	S3: 3	63	53	363	5.76			
27	ET24BTAI024	KAPADIA DHARMIN DEVNKUMAR	BB	BB	CC	BB	BB	AB	FF	FF	BC	AB	CC	BB	BB	BC	BC	FF	CC	FF	AB	CC	BB	CC	AB	FF	BC	FF	CC	88	21	4.19	11	3	Fail	S3: 3	63	53	381	6.05			
28	ET24BTAI025	KAVANI BENGALI	AA	AB	AA	AB	AA	AA	CC	BB	AA	AA	AB	AA	AA	AB	AB	BC	AB	AB	AA	AA	AA	AB	AA	AB	AB	AA	AB	AB	202	21	9.62	21	0	Pass	0	63	63	587	9.32		
29	ET24BTAI027	KHENI DAKSHKUMAR GHANSHYAMBHAI	CC	AB	CC	BC	BC	AA	FF	FF	CC	BB	CD	BB	BC	CC	BB	FF	AB	FF	BC	BC	BC	CC	CD	CC	CC	BC	BC	101	21	4.81	15	2	Fail	S3: 2	63	57	396	6.29			
30	ET24BTAI028	KHOKHANI MEET KESHAVBHAI	CC	BB	BB	BB	BB	AB	CC	BB	CC	BC	CC	BB	BC	CD	BC	FF	AB	FF	BC	CC	BC	CC	BB	CD	BC	BC	BB	BB	124	21	5.90	17	1	Fail	S3: 1	63	59	442	7.02		
31	ET24BTAI030	LAKSHRAJ SINGH	BB	AB	CC	BC	BB	BB	FF	FF	AB	AA	CC	BB	BB	BC	BC	CD	CC	CC	BB	BC	BB	CC	AB	BC	BC	BC	BB	BB	140	21	6.67	19	1	Fail	S3: 1	63	61	445	7.06		
32	ET24BTAI031	MADHANI HINAXI BHARATBHAI	BB	AA	CC	AB	BB	BB	CC	BC	AA	AB	BC	AA	AB	AB	CC	BC	BB	AB	BC	BB	BC	AB	CD	BB	BC	BC	BC	166	21	7.90	21	0	Pass	0	63	63	492	7.81			
33	ET24BTAI032	MAYANI DHARMI DHARMESHBHAI	BC	AB	CD	BC	BC	CC	CD	CC	AB	AA	CD	AA	BB	CC	AB	FF	BB	FF	BB	CC	BC	AA	CD	AB	BC	BB	BB	121	21	5.76	17	1	Fail	S2: 1, S3: 1	63	55	388	6.16			
34	ET24BTAI033	MISTRY DAKSH NARESH	AB	AA	CC	AB	BB	BB	CD	BC	CC	BC	CD	BB	BC	CC	BC	FF	BB	FF	BC	CC	BC	AB	BC	BC	BB	AB	AB	126	21	6.00	17	1	Fail	S3: 1	63	59	458	7.27			
35	ET24BTAI034	MIYANI DAKSH SANJAYBHAI	CC	BB	FF	BC	FF	FF	CD	FF	CC	BC	FF	BB	FF	CD	CC	FF	CC	FF	CC	CC	CC	CC	BB	CD	CC	CC	BB	BB	48	21	2.29	8	4	Fail	S1: 2, S2: 3, S3: 4	63	31	197	3.13		
36	ET24BTAI035	MODI PRIYANSHI MAHESHKUMAR	AA	AA	BB	AB	AB	AA	CC	BB	AB	AA	AB	AA	AA	AB	AB	CC	BB	BB	AA	AA	AA	BB	AA	AB	AA	AA	BB	BB	195	21	9.29	21	0	Pass	0	63	63	557	8.84		
37	ET24BTAI036	PAREKH MANAL HITESHKUMAR	AB	AA	AB	BB	AB	AA	CC	BB	AA	AA	BC	AA	AB	BB	AB	BC	BB	BB	AA	AA	AA	AB	AA	AA	AB	AA	BB	BB	191	21	9.10	21	0	Pass	0	63	63	567	9.00		
38	ET24BTAI037	PAREKH TIRTH KALPESH	BC	AB	FF	AA	FF	BB	FF	FF	BC	AB	CD	BB	BC	BC	BB	FF	BB	FF	BC	CD	CC	BC	AA	CD	BB	BC	CC	CC	80	21	3.81	12	3	Fail	S2: 1, S3: 3	63	50	354	5.62		
39	ET24BTAI038	PASIKANTI ADARSH RAMKRISHNA	AA	AB	AB	AB	AA	AB	BB	AB	AA	AA	BB	BB	AB	AA	BB	BC	BB	AB	AA	AB	AA	BC	AB	BB	BB	BB	BB	BB	192	21	9.14	21	0	Pass	0	63	63	537	8.52		
40	ET24BTAI039	PATEL DHRUVKUMAR MANISHBHAI	CC	AB	CD	BB	BC	BB	FF	FF	CC	BB	FF	BB	FF	CD	AB	FF	BC	FF	BC	CD	CC	BC	BB	FF	BC	FF	BC	BC	45	21	2.14	7	4	Fail	S1: 1, S3: 4	63	45	301	4.78		
41	ET24BTAI040	PATEL DHRUVKUMAR PRANAVBHAI	BC	AB	BB	BC	BB	BB	CD**	BC	AB	AA	CD	BB	BB	BB	AB	CD	BB	BC	BB	BC	BB	AB	CC	AB	BB	BC	BC	162	21	7.71	21	0	Pass	0	63	63	457	7.25			
42	ET24BTAI041	PATEL DIGAJKUMAR RAVINDRABHAI	BC	BB	CC	BB	BC	AA	CD	BC	BC	AB	CD	AB	BC	AB	AB	CD**	AA	BB	AA	BB	AB	BC	BB	CD	BB	BC	BC	159	21	7.57	21	0	Pass	0	63	63	495	7.86			
43	ET24BTAI042	PATEL DIYA MAHESHBHAI	BB	AB	CD**	BB	BC	BC	CD	CC	AB	AA	CC	BB	BB	CC	BB	CD	BB	BC	AA	BB	AB	CC	AB	CC	BC	BC	BC	157	21	7.48	21	0	Pass	0	63	63	457	7.25			
44	ET24BTAI043	PATIL HETASHVI RAJENDRA	AA	AA	AA	AA	AA	BB	BC	BB	AA	AA	AA	AA	AA	AA	AA	BB	AA	AA	AB	AA	AA	AA	AB	AA	AA	BB	BB	206	21	9.81	21	0	Pass	0	63	63	579	9.19			
45	ET24BTAI044	PATEL KRISH SHAILESHBHAI	AB	AA	AB	AA	AA	AA	BB	AB	AA	AA	BB	AA	AA	AA	AB	BB	AA	AA	AA	BB	AB	AA	BC	AB	AB	BC	BC	200	21	9.52	21	0	Pass	0	63	63	568	9.02			

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-013





Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Artificial Intelligence and Data Science



Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-III Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-013

Print On Date: 04/Feb/2026 11:19 AM

Sr No	Enrollment No	Student Name	3					2			4					4					4					0		Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			Web Development[BTAI13301]					Principles of Economics and Management[BTAS10301]			Computer Organisation and Architecture[BTCO13302]					Object Oriented Programming[BTCO13304]					Discrete Mathematics[BTIT13301]					Data Structures[BTIT13302]													Essence of Indian Traditional Knowledge[BTMD17301]				
			CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	CAT	CAP	TEE	TEP												Course Grade	CAT	CAP	TEE	TEP
68	ET24BTAI068	TARAPARA REEDHAM NILESHBHAI	AB	AA	AB	BC	AB	CC	BB	AB	AA	CC	BB	BB	AA	AB	CD	AA	BB	AA	BB	AB	AB	AA	CD	AB	BB	BC	BC	175	21	8.33	21	0	Pass	0	63	63	491	7.79			
69	ET24BTAI069	UMRETIYA ARYAN ANILBHAI	BC	BB	BB	BB	BB	AA	CD	BC	AA	AA	BC	BB	AB	BC	BB	CD	BB	BC	AA	AB	AA	BB	AA	CC	AB	BB	BC	BC	174	21	8.29	21	0	Pass	0	63	63	488	7.75		
70	ET24BTAI070	VACHHANI DHARM NITESHBHAI	BC	BB	CC	BC	BC	BB	CD	BC	CC	AB	FF	BB	FF	CC	CC	FF	CC	FF	CC	BC	BC	BC	CC	BB	FF	BC	FF	BC	BC	63	21	3.00	9	3	Fail	S3: 3	63	51	364	5.78	
71	ET24BTAI071	VAGHASIYA PARTH RASIKBHAI	BC	BB	CC	BB	BC	AB	CD	BC	CC	AB	CD	BB	BC	CC	CC	FF	CC	FF	BC	BC	BC	CC	BB	CD	BC	BC	BC	BC	119	21	5.67	17	1	Fail	S3: 1	63	59	409	6.49		
72	ET24BTAI072	ZAZADIYA KRISHA MAHESHBHAI	AB	AA	BB	AA	AB	CC	BB	AA	AA	BB	AA	AA	AB	AA	CD	AA	BB	AA	AA	AA	AA	AA	BB	AA	AA	BB	BB	BB	195	21	9.29	21	0	Pass	0	63	63	575	9.13		
73	ET24BTAI701	HEER SHAH	AA	AB	AB	AA	AA	AB	AA	AA	AA	AB	AA	AA	AA	AA	BC	AA	AB	AA	AA	AA	AA	AB	AA	CD	AA	BB	BB	BB	198	21	9.43	21	0	Pass	0	21	21	198	9.43		
74	ET25BTAI801	GOHIL DAKSH NATVAR	BC	BB	BB	AB	BB	FF	CC	FF	AA	AA	CC	BB	BB	CC	AB	CD	BB	BC	CC	CC	CC	CC	AB	CC	BC	BC	BB	BB	136	21	6.48	19	1	Fail	S3: 1	21	19	136	6.48		
75	ET25BTAI802	JANGIPORIA ARCHI HARIVADAN	AA	AA	AA	AA	AA	AB	CD**	BC	AA	AA	BC	AA	AB	AA	AA	BB	AA	AA	BB	AA	AA	BB	BB	BC	BB	BB	AB	AB	192	21	9.14	21	0	Pass	0	21	21	192	9.14		
76	ET25BTAI803	LAKSH RAJESHKUMAR GUNDARANIA	AA	AA	AA	AA	AA	BB	AB	AA	AA	BB	AB	AB	AA	AB	AB	AA	AA	AA	AA	BB	AB	AA	BB	AB	AB	BB	BB	BB	196	21	9.33	21	0	Pass	0	21	21	196	9.33		
77	ET25BTAI804	PANWALA NIDHI DHARMESH	AB	AA	AB	BC	AB	BB	CC	BC	BB	AB	BC	AA	AB	AB	AA	CC	AA	AB	BB	AA	AA	BB	AB	BC	BB	BB	AB	AB	185	21	8.81	21	0	Pass	0	21	21	185	8.81		
78	ET25BTAI805	PREM SHAH	BB	AB	CC	AB	BB	AB	FF	FF	BC	BC	FF	BB	FF	CD	BB	FF	BC	FF	BC	CD	CC	CC	AB	CD	BC	BC	CD	CD	76	21	3.62	11	3	Fail	S3: 3	21	11	76	3.62		
79	ET25BTAI806	RADADIYA KRISH MAHESHBHAI	AA	AA	AA	AA	AA	AB	FF	FF	BC	AB	CC	BB	BB	AB	AB	CC	AA	BB	BC	BC	BC	BB	AB	BC	BC	BB	BC	BC	154	21	7.33	19	1	Fail	S3: 1	21	19	154	7.33		
80	ET25BTAI807	TARSARIYA HARSHRAJ BHARATBHAI	AA	AB	BB	AB	AB	AA	CD	BC	BC	AB	CD	AB	BC	AB	AB	CD	AA	BB	BC	CC	BC	BB	CD	BC	BC	BB	BB	157	21	7.48	21	0	Pass	0	21	21	157	7.48			

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_04022026-013

Prepared by & Checked by,
Dr. Dhruvi Sharma
SU Exam OSD/Assessment Coordinator

Verified by,
Mr. Nimesh Desai,
SU-Exam Section

Dr. Hiren H. Patel
Dean/Principal,
SCET, Sarvajanik University

Dr. Nilesh Pandya
Controller of Examination,
Sarvajanik University

